



(An Autonomous Institution) Coimbatore-641035.

UNIT 1– COMBINATORICS

General Eng Functions:
The general fing functions the sequence
S' with torms as,
$$a_1, \ldots, a_n$$
 of deal numbers
Bs the infinite sum.
Gr(x) = $a_0 + a_1 x_1 + a_2 x_1 + \ldots + a_n x_n + \ldots$
 $= \sum_{n=0}^{\infty} a_n x^n$
working Rule:
Step 1: Rewelte the neurorance a_{n-1} , with RHS=0
Step 8: Multiply the eqn obtained in step 1 by x^n
8 summing from (0 to a_0) on (1 to a_0)
on ($a \pm a_0$)
Step 3: Put Gr(x) = $\sum_{n=0}^{\infty} a_n x^n$ and write Gr(a) as
 $a_1 + unction d_1 x$.
Step 4: Decompose Gr(x) into partial fraction.
Step 5: Express a_n as the co-efficient of x^n
 g_5 Gr(x)
Note:
 $(1-x)^{-1} = 1 + x + x^2 + x^3 + \ldots$
 $(1+x)^{-2} = 1 - x + x^2 - x^3 + \ldots$
 $(1+x)^{-2} = 1 - 2x + 3x^2 - 4x^3 + \ldots$
 $(1+x)^{-2} = 1 - 2x + 3x^2 - 4x^3 + \ldots$
 J use the method of generating function to
solve the nethod of generating function to
Solve the nethod of generating function to
Solve the securorence eqn. $a_n = 3a_{n-1} + 1, n \ge 1$
 $given a_0 = 1$



(An Autonomous Institution) Coimbatore-641035.



UNIT 1– COMBINATORICS



(An Autonomous Institution) Coimbatore-641035.



UNIT 1– COMBINATORICS

$$\begin{aligned} &= -\frac{1}{2} (1-x)^{-1} + \frac{3}{2} (1-3x)^{-1} \\ (3(x) &= -\frac{1}{2} [1+x+x^{2}+\dots] + \frac{3}{2} [1+3x+(3x)^{+}\dots] \\ &\stackrel{>}{\underset{h=0}{}} a_{n} x^{h} = \frac{1}{2} \sum_{h=0}^{\infty} x^{h} + \frac{3}{2} \sum_{h=0}^{\infty} (3x)^{h} \\ &= -\frac{1}{2} \sum_{h=0}^{\infty} (n^{h} x^{0} + \frac{3}{2} \sum_{h=0}^{\infty} (3)^{h} x^{h} \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = -\frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = \frac{1}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = \frac{2}{2} (n^{h} + \frac{3}{2} (3)^{h} [\cdots a_{n} - 4he \ co \ e46^{p}. \\ &\stackrel{:}{\underset{h=0}{}} a_{n} = \frac{2}{2} (n^{h} + \frac{3}{2} (n^{h} + \frac{3}{2} (n^{h} + \frac{3}{2} (n^{h} + n^{h} = 2^{h} (n^{h} + n^{h} = n^{h} + n^{h} + n^{h} + n^{h} = n^{h} + n^{h} + n^{h} = n^{h} + n^{h}$$



(An Autonomous Institution) Coimbatore-641035.



UNIT 1– COMBINATORICS

$$G(x) \left[\frac{1 - \frac{3}{x^2} + x^2}{x^2} \right] + \frac{3}{x} - \frac{2}{x^2} = \frac{1}{1 - 2x}$$

$$G_1(x) \left[\frac{(x - 1)^2}{x^2} \right] = \frac{1}{1 - 2x} + \frac{2 - 3x}{x^2}$$

$$= \frac{x^2 + (1 - 2x)(x - 3x)}{x^2(1 - 2x)}$$

$$= \frac{x^2 + 2 - 3x - 4x + 6x^2}{x^2(1 - 2x)}$$

$$G_1(x) = \frac{7x^2 - 7x + 4}{x^2(1 - 2x)} \quad \frac{x^2}{(2 - 1)^2}$$

$$G_1(x) = \frac{7x^2 - 7x + 4}{x^2(1 - 2x)} \quad \frac{x^2}{(2 - 1)^2}$$

$$G_1(x) = \frac{7x^2 - 7x + 4}{(1 - 2x)(x - 1)^2} \quad \frac{x^2}{(2 - 1)^2}$$
By along partfal brackfords
$$\frac{7x^2 - 7x + 4}{(1 - 2x)(x - 1)^2} = \frac{A}{1 - 2x} + \frac{B}{x - 1} + \frac{C}{(x - 1)^2} \rightarrow (1)$$

$$= \frac{A(x - 1)^2 + B(1 - 2x)(x - 1) + C(1 - 2x)}{(1 - 2x)(x - 1) + C(1 - 2x)}$$

$$Tx^2 - 7x + 2 = P(x - 1)^2 + B(1 - 2x)(x - 1) + C(1 - 2x)$$

$$x = 1, \quad 2 = C(1 - 2)$$

$$-c = 2 \quad \Rightarrow \quad C = -2$$

$$x = 0, \quad 2 = 0 - B + C \quad \Rightarrow \quad A - B = -4$$

$$x = \frac{1}{2}, \quad \frac{7}{4} - \frac{7}{2} + 2 = \frac{A}{4} + 0 + 0$$

$$\frac{A}{4} = \frac{7 - 14 + 8}{4} = \frac{15 - 14}{4}$$

$$A = 1$$



(An Autonomous Institution) Coimbatore-641035.



UNIT 1- COMBINATORICS

$$B = A - 4$$

$$= 1 - 4$$

$$B = -3$$
Here $A = 1, B = -3, C = -2$

$$(1) \Rightarrow G_{1}(x) = \frac{1}{1-2x} - \frac{3}{x-1} - \frac{2}{(x-1)^{2}}$$

$$= (1 - 2x)^{-1} + 3(1-x)^{-1} - 2(1-x)^{-2}$$

$$= (1 - 2x)^{-1} + 3(1-x)^{-1} - 2(1-x)^{-2}$$

$$= 1 + 9x + (2x)^{2} + (2x)^{3} + \dots + 3[1 + x + x^{2} + x^{3} + \dots]$$

$$-2[1 + 2x + 3x^{2} + 4x^{3} + \dots]$$

$$= a_{p} x^{p} = \frac{2}{p=0} (2x)^{p} + 3\frac{2}{p=0} (x)^{p} - 2\frac{2}{p=0} (p+1)x^{p}$$

$$a_{p} = (2)^{p} + 3(1)^{p} - 2(p+1)$$
Using generating bunction. Solve the secontence selation, $a_{p+2} - 4a_{p+1} + 3a_{p=0}$

$$a_{p} = 2, a_{1} = 4$$

$$a_{p} = 1, a_{1} = 2$$
Solve $a_{p} - 7a_{p+1} + 10a_{p-2} = 0, a_{0} = 10, a_{1} = 41, b \ge 2$

$$a_{p} = 3x^{p} + 3(a_{p} - 2) = 0, a_{0} = 10, a_{1} = 41, b \ge 2$$

$$a_{p} = 3x^{p} + 3(a_{p} - 2) = 0, a_{0} = 10, a_{1} = 41, b \ge 2$$

$$a_{p} = 3x^{p} + 3(a_{p} - 2) = 0, a_{0} = 10, a_{1} = 41, b \ge 2$$

$$a_{p} = 3x^{p} + 3(a_{p} - 2) = 0, a_{0} = 10, a_{1} = 41, b \ge 2$$